Дії з раціональними числами

Варіант 1

1. Виконати дії

а) -4,72-1,9   б) -1,6∙4,5     в) -2,79:9.

2. Розв’язати рівняння 

а) х+15=-21       б) -8х=72

3. Обчислити значення виразу
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4. Обчислити:

а) -0,96+(-5,37)+1,03-6,03-(-2,7)

б) -1,7∙0,3+8∙0,3-2,2∙(-0,3)+2,7:3
Варіант 2

1. Виконати дії

а) -2,5-9,67  б) 3,5∙(-1,8)   в) 8,5(-17)

2. Розв’язати рівняння 

а) х-11=-23       б) 1,7:х=-5,1

3. Обчислити значення виразу
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4. Обчислити:

а) -8,31-6,27+(-8,44)+31,67+(-0,15)

б) 1,2∙(-0,6)-0,4∙1,2-2,8∙(-1,2)-3,6:(-6)
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